# AGREEMENT BETWEEN OWNER AND CONTRACTOR FOR CONSTRUCTION CONTRACT (STIPULATED PRICE)

This Agreement is by and between **the City of Lee's Summit, Missouri** ("Owner") and **Wiedenmann, Inc.** ("Contractor").

Terms used in this Agreement have the meanings stated in the General Conditions and the Supplementary Conditions.

Owner and Contractor hereby agree as follows:

# ARTICLE 1—WORK

1.01 Contractor shall complete all Work as specified or indicated in the Contract Documents. The Work is generally described as follows: Installation of approximately 12,800 feet of water main, hydrants, valves, fittings, service lines, service connections, connections to existing water mains, and surface restoration; including all materials, labor, equipment, testing, supervision, and any and all other items necessary to complete the work.

## ARTICLE 2—THE PROJECT

2.01 The Project, of which the Work under the Contract Documents is a part, is generally described as follows: **Project No. 721-1: Water Main Replacement - FY23** 

## ARTICLE 3—ENGINEER

- 3.01 The Owner has retained **City of Lee's Summit Public Works Department** ("Engineer") to act as Owner's representative, assume all duties and responsibilities of Engineer, and have the rights and authority assigned to Engineer in the Contract, <u>except as described in Paragraph 3.03 of this Agreement.</u>
- 3.02 The part of the Project that pertains to the Work has been designed by **Engineer**.
- 3.03 The Owner shall be responsible for handling the following matters notwithstanding the fact that certain portions of the Contract Documents may list the Engineer as having responsibility for said matters:
  - A. Furnish a Resident Project Representative;
  - B. <u>Change of Working Hours;</u>
  - C. <u>Make Determinations for Unit Price Work (determine quantities and classifications);</u>
  - D. Field orders, Work Change Directives, Change Orders;
  - E. <u>Progress Payments;</u>
  - F. <u>Monitor Contractor's schedule, progress, schedule and conduct progress meetings;</u>

- G. <u>Receive in writing questions from the Contractor regarding all matters concerning the</u> requirements of the Contract Documents (sometimes referred to as requests for information or interpretation—RFIs), or relating to the acceptability of the Work under the Contract <u>Documents;</u>
- H. The Owner will be the initial interpreter of the requirements of the Contract Documents;
- I. <u>The Owner will render decision regarding the requirements of the Contract Documents;</u>
- J. The Owner will judge of the acceptability of the Work; and
- K. <u>Coordinate construction services provided by the Engineer as needed.</u>

In the event that portions of the Contract Documents indicate that the Engineer is to handle, provide input, or receive notices or filings with regard to any of the above referenced matters, this Article 3 shall prevail.

# ARTICLE 4—CONTRACT TIMES

- 4.01 *Time is of the Essence* 
  - A. All time limits for Milestones, if any, Substantial Completion, and completion and readiness for final payment as stated in the Contract Documents are of the essence of the Contract.
- 4.02 *Contract Times: Days* 
  - A. The Work will be substantially complete within **270 days** after the date when the Contract Times commence to run as provided in Paragraph 4.01 of the General Conditions, and completed and ready for final payment in accordance with Paragraph 15.06 of the General Conditions within **90 days after Substantial Completion**.
  - B. The Work includes replacement of lead service lines on SE Miller Street and SE Douglas Street between the water main and the meter. Contractor shall coordinate with property owners to offer replacement of the portion of the lead service line on the private side of the meter at the property owner's expense. If Contractor and any property owner comes to an agreement on the replacement of the lead service line on the private side, the agreement shall be in writing signed by both the Contractor and property owner and provided to the City upon request. Should agreement(s) with property owner(s) to replace private lead service lines be entered into, the contract time will be extended according to the following table.

Number of properties	Additional days
0 - 10	5
11 - 20	10
21 - 30	15
31+	20

# 4.03 *Milestones*

- A. Completion of the punch list attached to the Certificate of Substantial Completion shall be achieved within **30 days after Substantial Completion**.
- B. Parts of the Work must be substantially completed on or before the following Milestone(s):
  - 1. Milestone 1: All work shall be completed along NW Frances Road, NW Donovan Road, and NW Dunlap Drive as shown in the plans within **90 calendar days** of the date work commences within the area. The plans pertaining to this Milestone are marked accordingly and are shown on sheet 3 and sheets 6-9.
  - 2. Milestone 2: All work shall be completed along NW Libby Lane as shown in the plans within **45 calendar days** of the date work commences within the area. The plans pertaining to this Milestone are marked accordingly and are shown on sheet 3 and sheet 10.
  - 3. Milestone 3: All work shall be completed along NE Yorkshire Circle as shown in the plans within **30 calendar days** of the date work commences within the area. The plans pertaining to this Milestone are marked accordingly and are shown on sheet 3 and sheet 11.
  - 4. Milestone 4: All work shall be completed along NW Donovan Road, NW O'Brien Road, NW Redwing Drive, NW Walnut Street, NW Gibson Road, and NW Noel Street as shown in the plans within **150 calendar days** of the date work commences within the area. The plans pertaining to this Milestone are marked accordingly and are shown on sheet 3 and sheets 12-18.
  - 5. Milestone 5: All work shall be completed along SE Miller Street and SE Douglas Street as shown in the plans within **90 calendar days** of the date work commences within the area. The plans pertaining to this Milestone are marked accordingly and are shown on sheet 3 and sheets 19-22.
    - a. Milestone 5 includes replacement of lead service lines between the water main and the meter. Contractor shall coordinate with property owners to offer replacement of the portion of the lead service line on the private side of the meter at the property owner's expense. If Contractor should enter into agreement(s) with property owner(s) to replace private lead service lines, Milestone 5 will be extended according to the following table.

Number of properties	Additional days
0-10	5
11 – 20	10
21 – 30	15
31+	20

6. Milestone 6 – Alternate: All work shall be completed along SE Hampton Court as shown in the plans within **45 calendar days** of the date work commences within the area. The

plans pertaining to this Milestone are marked accordingly and are shown on sheet 3 and sheet 5.

## 4.04 Liquidated Damages

- A. Contractor and Owner recognize that time is of the essence as stated in Paragraph 4.01 above and that Owner will suffer financial and other losses if the Work is not completed and Milestones not achieved within the Contract Times, as duly modified. The parties also recognize the delays, expense, and difficulties involved in proving, in a legal or arbitration proceeding, the actual loss suffered by Owner if the Work is not completed on time. Accordingly, instead of requiring any such proof, Owner and Contractor agree that as liquidated damages for delay (but not as a penalty):
  - 1. *Substantial Completion:* Contractor shall pay Owner \$**500** for each day that expires after the time (as duly adjusted pursuant to the Contract) specified above for Substantial Completion, until the Work is substantially complete.
  - Completion of Remaining Work: After Substantial Completion, if Contractor shall neglect, refuse, or fail to complete the remaining Work within the Contract Times (as duly adjusted pursuant to the Contract) for completion and readiness for final payment, Contractor shall pay Owner \$500 for each day that expires after such time until the Work is completed and ready for final payment.
  - 3. Milestones:
    - a. Contractor shall pay Owner **\$250** for each day that expires after the time (as duly adjusted pursuant to the Contract) specified above for achievement of Paragraph 4.03.A, or until the time specified for the Work to be completed and ready for final payment, at which time the rate indicated in Paragraph 4.04.A.2 will apply, rather than this Milestone rate.
    - b. Contractor shall pay Owner **\$250** for each day that expires after the time (as duly adjusted pursuant to the Contract) specified above for achievement of each Milestone reflected in Paragraph 4.03.B, or until the time specified for Substantial Completion is reached, at which time the rate indicated in Paragraph 4.04.A.1 will apply, rather than this Milestone rate.
  - 4. Liquidated damages for failing to timely attain Milestones, Substantial Completion, and final completion are not additive, and will not be imposed concurrently.
- B. If Owner recovers liquidated damages for a delay in completion by Contractor, then such liquidated damages are Owner's sole and exclusive remedy for such delay, and Owner is precluded from recovering any other damages, whether actual, direct, excess, or consequential, for such delay, except for special damages (if any) specified in this Agreement.

# ARTICLE 5—CONTRACT PRICE

- 5.01 Owner shall pay Contractor for completion of the Work in accordance with the Contract Documents, the amounts that follow, subject to adjustment under the Contract:
  - A. For all Unit Price Work, an amount equal to the sum of the extended prices (established for each separately identified item of Unit Price Work by multiplying the unit price times the actual quantity of that item).

Unit Price Work – Base Bid					
ltem No.	Description	Unit	Estimated Quantity	Unit Price	Extended Price
1	MOBILIZATION	LS	1	\$485,000.00	\$485,000.00
2	CLEARING AND GRUBBING	LS	1	\$9,000.00	\$9,000.00
3	DEMOLITION AND REMOVAL	LS	1	\$110,000.00	\$110,000.00
4	WATER LINE PIPE – 2" HDPE	LF	691	\$92.00	\$63,572.00
5	WATER LINE PIPE – 4" PVC	LF	0	\$250.00	\$0.00
6	WATER LINE PIPE – 6" PVC	LF	6,499	\$100.00	\$649,900.00
7	WATER LINE PIPE – 8" PVC	LF	3,587	\$180.00	\$645,660.00
8	WATER LINE PIPE – 8" HDPE	LF	1,011	\$190.00	\$192,090.00
9	LOWERING WATER MAIN – 2"	LF	35	\$165.00	\$5,775.00
10	LOWERING WATER MAIN – 6"	LF	193	\$300.00	\$57,900.00
11	LOWERING WATER MAIN – 8"	LF	160	\$150.00	\$24,000.00
12	WATER SERVICE LINE – COPPER (ALL SIZES)	LF	2,243	\$44.00	\$98,692.00
13	WATER SERVICE RE-CONNECTIONS (ALL SIZES)	EA	171	\$1,000.00	\$171,000.00
14	WATER METER WELL	EA	153	\$700.00	\$107,100.00
15	WATER METER RELOCATION WITH REUSE OF EXISTING METER	EA	6	\$2,100.00	\$12,600.00
16	WATER METER SETTER	EA	74	\$500.00	\$37,000.00
17	WATER METER RING AND COVER	EA	12	\$700.00	\$8,400.00
18	WATER LINE VALVE – 2" POLYVALVE	EA	1	\$650.00	\$650.00
19	WATER LINE VALVE – 6" GATE VALVE	EA	20	\$1,850.00	\$37,000.00
20	WATER LINE VALVE – 8" GATE VALVE	EA	14	\$2,400.00	\$33,600.00
21	WATER LINE VALVE – 12" BUTTERFLY OR GATE VALVE	EA	1	\$4,700.00	\$4,700.00
22	FIRE HYDRANT ASSEMBLY (WITH NEW HYDRANT)	EA	24	\$8,000.00	\$192,000.00
23	BLOWOFF ASSEMBLY	EA	2	\$1,400.00	\$2,800.00
24	PAVEMENT REPAIR	SY	793	\$132.00	\$104,676.00
25	DRIVEWAYS – CONCRETE RESIDENTIAL	SY	291	\$130.00	\$37,830.00
26	DRIVEWAYS – CONCRETE COMMERCIAL	SY	97	\$138.00	\$13,386.00
27	REMOVE AND REINSTALL FENCE (ALL TYPES)	LF	12	\$100.00	\$1,200.00
28	CURB AND GUTTER (ALL TYPES)	LF	330	\$59.00	\$19,470.00
29	SIDEWALK – CONCRETE	SY	477	\$125.00	\$59,625.00
30	ADA RAMPS – TYPE A	EA	8	\$2,380.00	\$19,040.00

EJCDC<sup>®</sup> C-520, Agreement between Owner and Contractor for Construction Contract (Stipulated Price). Copyright<sup>©</sup> 2018 National Society of Professional Engineers, American Council of Engineering Companies, and American Society of Civil Engineers. All rights reserved.

	Unit Price Work – Base Bid				
ltem No.	Description	Unit	Estimated Quantity	Unit Price	Extended Price
31	ADA RAMPS – TYPE B	EA	3	\$2,670.00	\$8,010.00
32	SOD	SY	4,135	\$9.00	\$37,215.00
33	EROSION CONTROL	LS	1	\$35,000.00	\$35,000.00
34	34 TRAFFIC CONTROL LS 1 \$100,000.00				\$100,000.00
Total	Total of all Extended Prices for Unit Price Work – Base Bid (subject to final adjustment based on actual quantities)\$ 3,383,891.				

Unit Price Work – Hampton Court Alternate Bid					
ltem No.	Description	Unit	Estimated Quantity	Unit Price	Extended Price
1A	MOBILIZATION	LS	1	\$29,000.00	\$29,000.00
2A	CLEARING AND GRUBBING	LS	1	\$500.00	\$500.00
3A	DEMOLITION AND REMOVAL	LS	1	\$5,000.00	\$5,000.00
4A	WATER LINE PIPE – 4" HDPE	LF	506	\$107.00	\$54,142.00
5A	WATER LINE PIPE – 6" PVC	LF	93	\$128.00	\$11,904.00
6A	WATER LINE PIPE – 8" PVC	LF	38	\$555.00	\$21,090.00
7A	WATER SERVICE RE-CONNECTIONS (ALL SIZES)	EA	18	\$1,400.00	\$25,200.00
8A	WATER LINE VALVE – 4" GATE VALVE	EA	1	\$1,500.00	\$1,500.00
9A	WATER LINE VALVE – 6" GATE VALVE	EA	1	\$1,850.00	\$1,850.00
10A	WATER LINE VALVE – 8" GATE VALVE	EA	1	\$2,400.00	\$2,400.00
11A	FIRE HYDRANT ASSEMBLY (WITH NEW HYDRANT)	EA	1	\$7,200.00	\$7,200.00
12A	BLOWOFF ASSEMBLY	EA	2	\$1,400.00	\$2,800.00
13A	PAVEMENT REPAIR	SY	30	\$142.00	\$4,260.00
14A	CURB AND GUTTER (ALL TYPES)	LF	30	\$59.00	\$1,770.00
15A	SIDEWALK – CONCRETE	SY	64	\$125.00	\$8,000.00
16A	SOD	SY	200	\$9.00	\$1,800.00
17A	EROSION CONTROL	LS	1	\$1,000.00	\$1,000.00
18A	TRAFFIC CONTROL	LS	1	\$1,500.00	\$1,500.00
19A	WATER METER WELL	EA	9	\$680.00	\$6,120.00
20A	WATER METER RELOCATION WITH REUSE OF EXISTING METER	EA	9	\$2,000.00	\$18,000.00
21A	WATER METER SETTER	EA	9	\$450.00	\$4,050.00
22A	WATER METER RING AND COVER	EA	9	\$625.00	\$5,625.00

EJCDC<sup>®</sup> C-520, Agreement between Owner and Contractor for Construction Contract (Stipulated Price). Copyright<sup>©</sup> 2018 National Society of Professional Engineers, American Council of Engineering Companies, and American Society of Civil Engineers. All rights reserved.

Unit Price Work – Hampton Court Alternate Bid					
ltem No.	Description	Unit	Estimated Quantity	Unit Price	Extended Price
Total of all Extended Prices for Unit Price Work – Hampton Court Alternate Bid (subject to final adjustment based on actual quantities)			\$ 214,711.00		

The extended prices for Unit Price Work set forth as of the Effective Date of the Contract are based on estimated quantities. As provided in Paragraph 13.03 of the General Conditions, estimated quantities are not guaranteed, and determinations of actual quantities and classifications are to be made by Engineer.

## ARTICLE 6—PAYMENT PROCEDURES

- 6.01 Submittal and Processing of Payments
  - A. Contractor shall submit Applications for Payment in accordance with Article 15 of the General Conditions. Applications for Payment will be processed by Engineer as provided in the General Conditions.
- 6.02 *Progress Payments; Retainage* 
  - A. Owner shall make progress payments on the basis of Contractor's Applications for Payment <u>monthly</u> performance of the Work as provided in Paragraph 6.02.A.1 below, provided that such Applications for Payment have been submitted in a timely manner and otherwise meet the requirements of the Contract. All such payments will be measured by the Schedule of Values established as provided in the General Conditions (and in the case of Unit Price Work based on the number of units completed) or, in the event there is no Schedule of Values, as provided elsewhere in the Contract.
    - 1. Prior to Substantial Completion, progress payments will be made in an amount equal to the percentage indicated below but, in each case, less the aggregate of payments previously made and less such amounts as Owner may withhold, including but not limited to liquidated damages, in accordance with the Contract.
      - a. **95** percent of the value of the Work completed (with the balance being retainage).
      - b. **100** percent of cost of materials and equipment not incorporated in the Work (with the balance being retainage).
  - B. Upon Substantial Completion, Owner shall pay an amount sufficient to increase total payments to Contractor to 95 percent of the Work completed, less such amounts set off by Owner pursuant to Paragraph 15.01.E of the General Conditions, and less 150 percent of Engineer's estimate of the value of Work to be completed or corrected as shown on the punch list of items to be completed or corrected prior to final payment.
- 6.03 Final Payment
  - A. Upon final completion and acceptance of the Work, Owner shall pay the remainder of the Contract Price in accordance with Paragraph 15.06 of the General Conditions.

## 6.04 Consent of Surety

A. Owner will not make final payment, or return or release retainage at Substantial Completion or any other time, unless Contractor submits written consent of the surety to such payment, return, or release.

## 6.05 Interest

A. All amounts not paid when due will bear interest at the rate <u>as specified by Missouri State</u> <u>Statute, RSMo 8.960.</u>

# ARTICLE 7—CONTRACT DOCUMENTS

## 7.01 *Contents*

- A. The Contract Documents consist of all of the following:
  - 1. This Agreement.
  - 2. Bonds:
    - a. Performance bond (together with power of attorney).
    - b. Payment bond (together with power of attorney).
  - 3. General Conditions.
  - 4. Supplementary Conditions.
  - 5. Specifications as listed in the table of contents of the Project Manual.
  - 6. Drawings (not attached but incorporated by reference) consisting of **31** sheets with each sheet bearing the following general title: **Water Main Replacement FY23**.
  - 7. Addenda (numbers [number] to [number], inclusive).
  - 8. The following which may be delivered or issued on or after the Effective Date of the Contract and are not attached hereto:
    - a. Notice to Proceed.
    - b. Work Change Directives.
    - c. Change Orders.
    - d. Field Orders.
    - e. Warranty Bond, if any.
- B. The Contract Documents listed in Paragraph 7.01.A are attached to this Agreement (except as expressly noted otherwise above).
- C. There are no Contract Documents other than those listed above in this Article 7.
- D. The Contract Documents may only be amended, modified, or supplemented as provided in the Contract.

# ARTICLE 8—REPRESENTATIONS, CERTIFICATIONS, AND STIPULATIONS

- 8.01 *Contractor's Representations* 
  - A. In order to induce Owner to enter into this Contract, Contractor makes the following representations:
    - 1. Contractor has examined and carefully studied the Contract Documents, including Addenda.
    - 2. Contractor has visited the Site, conducted a thorough visual examination of the Site and adjacent areas, and become familiar with the general, local, and Site conditions that may affect cost, progress, and performance of the Work.
    - 3. Contractor is familiar with all Laws and Regulations that may affect cost, progress, and performance of the Work.
    - 4. Contractor has carefully studied the reports of explorations and tests of subsurface conditions, <u>if any</u>, at or adjacent to the Site and the drawings of physical conditions relating to existing surface or subsurface structures at the Site that have been identified in the Supplementary Conditions, with respect to the Technical Data in such reports and drawings.
    - 5. Contractor has carefully studied the reports and drawings relating to Hazardous Environmental Conditions, if any, at or adjacent to the Site that have been identified in the Supplementary Conditions, with respect to Technical Data in such reports and drawings.
    - 6. Contractor has considered the information known to Contractor itself; information commonly known to contractors doing business in the locality of the Site; information and observations obtained from visits to the Site; the Contract Documents; and the Technical Data identified in the Supplementary Conditions or by definition, with respect to the effect of such information, observations, and Technical Data on (a) the cost, progress, and performance of the Work; (b) the means, methods, techniques, sequences, and procedures of construction to be employed by Contractor; and (c) Contractor's safety precautions and programs.
    - 7. Based on the information and observations referred to in the preceding paragraph, Contractor agrees that no further examinations, investigations, explorations, tests, studies, or data are necessary for the performance of the Work at the Contract Price, within the Contract Times, and in accordance with the other terms and conditions of the Contract.
    - 8. Contractor is aware of the general nature of work to be performed by Owner and others at the Site that relates to the Work as indicated in the Contract Documents.
    - 9. Contractor has given Engineer written notice of all conflicts, errors, ambiguities, or discrepancies that Contractor has discovered in the Contract Documents, and of discrepancies between Site conditions and the Contract Documents, and the written resolution thereof by Engineer is acceptable to Contractor.
    - 10. The Contract Documents are generally sufficient to indicate and convey understanding of all terms and conditions for performance and furnishing of the Work.

11. Contractor's entry into this Contract constitutes an incontrovertible representation by Contractor that without exception all prices in the Agreement are premised upon performing and furnishing the Work required by the Contract Documents.

# 8.02 *Contractor's Certifications*

- A. <u>Pursuant to Section 34.600, RSMo., and to the fullest extent permitted by law, Contractor</u> <u>certifies that it is not engaged in a boycott of Israel as of the Effective Date of this Agreement,</u> <u>and agrees for the duration of this Agreement to not engage in a boycott of Israel.</u>
- B. Contractor certifies that it has not engaged in corrupt, fraudulent, collusive, or coercive practices in competing for or in executing the Contract. For the purposes of this Paragraph 8.02:
  - "corrupt practice" means the offering, giving, receiving, or soliciting of anything of value likely to influence the action of a public official in the bidding process or in the Contract execution;
  - "fraudulent practice" means an intentional misrepresentation of facts made (a) to influence the bidding process or the execution of the Contract to the detriment of Owner, (b) to establish Bid or Contract prices at artificial non-competitive levels, or (c) to deprive Owner of the benefits of free and open competition;
  - 3. "collusive practice" means a scheme or arrangement between two or more Bidders, with or without the knowledge of Owner, a purpose of which is to establish Bid prices at artificial, non-competitive levels; and
  - 4. "coercive practice" means harming or threatening to harm, directly or indirectly, persons or their property to influence their participation in the bidding process or affect the execution of the Contract.

# 8.03 Standard General Conditions

A. Owner stipulates that if the General Conditions that are made a part of this Contract are EJCDC<sup>®</sup> C-700, Standard General Conditions for the Construction Contract (2018), published by the Engineers Joint Contract Documents Committee, and if Owner is the party that has furnished said General Conditions, then Owner has plainly shown all modifications to the standard wording of such published document to the Contractor, through a process such as highlighting or "track changes" (redline/strikeout), or in the Supplementary Conditions.

# 8.04 Other Provisions

A. <u>This Agreement and all work related to this Project shall be governed by the laws of the State</u> of Missouri and shall be litigated and/or mediated in Jackson County, Missouri.

#### Exhibit A

IN WITNESS WHEREOF, Owner and Contractor have signed this Agreement.

This Agreement will be effective on	 (which is the Effective Date of
the Contract).	

Owner:	Contractor:			
City of Lee's Summit, Missouri				
Ву:	Ву:			
Date:	Date:			
Name: Mark Dunning	Name:			
Title: City Manager	Title:			
	(If <b>[Type of Entity]</b> is a corporation, a partnership, or a joint venture, attach evidence of authority to sign.)			
Attest:	Attest:			
Title: City Clerk	Title:			
Address for giving notices:	Address for giving notices:			
220 SE Green Street				
Lee's Summit, MO 64063				
Designated Representative:	Designated Representative:			
Name: Jeff Thorn	Name:			
Title: Deputy Director, Water Utilities	Title:			
Address:	Address:			
1200 SE Hamblen Road				
Lee's Summit, MO 64081				
Phone: 816.969.1900	Phone:			
Email:	Email:			
APPROVED AS TO FORM:	License No.:			
	(where applicable)			
Office of the City Attorney	State:			

EJCDC<sup>®</sup> C-520, Agreement between Owner and Contractor for Construction Contract (Stipulated Price). Copyright<sup>®</sup> 2018 National Society of Professional Engineers, American Council of Engineering Companies, and American Society of Civil Engineers. All rights reserved.